
Name:                                  

 Aufgabentürme 09

Datum:               

ZR 10000

Klasse:             

ideenzumlernen.de

3400 + 8590=

4590 - 2150=

1200 + 3000=

7050 - 2000=

9400 + 10000=

3800 + 1200 =

4570 - 3260 =

1500 + 3500 =

5900 - 4500 =

20 + 8800 =

4200 + 10000=

10000 - 450=

230 + 3000=

6300 - 2200=

3700 + 5000=

2100 + 1900 =

6700 - 1500 =

9010 + 90 =

3560 - 2130 =

1200 + 4600 =

5670 + 8670=

9800 - 2700=

1 + 10000=

8900 - 100=

1000 + 9999=

700 + 6200 =

10000 - 1001 =

2000 + 440 =

1000 - 90 =

8710 + 400 =

4300 + 9000=

9000 - 3500=

10 + 9990=

8790 - 4230=

3650 + 5760=

1010 + 5050 =

9999 - 8888 =

2 + 4580 =

7900 - 2450 =

7120 + 1430 =


	Folie 1

	Textfeld 2: 
	Textfeld 2_2: 
	Textfeld 2_3: 
	Textfeld 1: 
	Textfeld 1_2: 
	Textfeld 1_3: 
	Textfeld 1_4: 
	Textfeld 1_5: 
	Textfeld 1_6: 
	Textfeld 1_7: 
	Textfeld 1_8: 
	Textfeld 1_9: 
	Textfeld 1_10: 
	Textfeld 1_11: 
	Textfeld 1_12: 
	Textfeld 1_13: 
	Textfeld 1_14: 
	Textfeld 1_15: 
	Textfeld 1_16: 
	Textfeld 1_17: 
	Textfeld 1_18: 
	Textfeld 1_19: 
	Textfeld 1_20: 
	Textfeld 1_21: 
	Textfeld 1_22: 
	Textfeld 1_23: 
	Textfeld 1_24: 
	Textfeld 1_25: 
	Textfeld 1_26: 
	Textfeld 1_27: 
	Textfeld 1_28: 
	Textfeld 1_29: 
	Textfeld 1_30: 
	Textfeld 1_31: 
	Textfeld 1_32: 
	Textfeld 1_33: 
	Textfeld 1_34: 
	Textfeld 1_35: 
	Textfeld 1_36: 
	Textfeld 1_37: 
	Textfeld 1_38: 
	Textfeld 1_39: 
	Textfeld 1_40: 


